A6 FE (ZAH)

Bt

BEE (100)

RIS fiz Zos 51 BOA RIREE S i % 'l =
1R} 1) | e 2 4 | 1| wiEh
(2) 7, X 2 2 5 N
Mo | 0 | #m 2 3
@ | v 2
B3 (1) = 2
2|7, v, = 2
ma | | =5 2
2 |7 21 16
2|1 ZYV=a—7Fr 9 4 | DoRvHvOBE oo
2 | MBoRERIKE < BB0E, 2 W KIFROR® 5y ¢
sl | Aok 2 ms | B9
@ | © wmk e
_______________________________________________ 2 SOERABEEEC HDKE SFEL
® ~zrury ) <, AUAEMLEE X, EhRboFRE
Ha L0 bIFRODUIRE DD, 17
R4 A 3 5| m1 | me
RIS | (1) | 4 »F 9 mo | 4
2O ik 2 s | 0| emrmkso v ABIcEC L2
e nER LT sh,
® ol 17 N T Bk
@ =
31| | s 2
Bl O =
2] 20 ¢ 3
® C 16
3|7 2
6 | M1 | (1] ke
o | 1) | BRAD, REECHETD0ES
. 3 @1 7
2) giﬁ@mﬁﬁaﬁmﬁﬁﬁwéﬂﬁ Mo |w| 21, + 0, —  2H,O
2, FDORBESPREE L ECONT BRI
ﬁ%(‘: L’Cﬁ)’lﬂj éi’bé%ﬁ*iﬁfitﬁfbo 4 (2) 180 kJ
B | A 418 @7 v =
4) 13. 6 E 16




